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Plot [['EcFgro', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec']]

3500 A

3000 -

2500 -

2000 -

1500 A

1000 ~ —— ECdef

Warning: col ['EcFgro', 'EcFzExp', 'EcPItng'] is missing s~ water ec

500 A

0 25 50 75 100 125 150 175



Plot ['ECopt']
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Plot ['FR', 'soilSetVI']
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Plot [['ETCAbyEtM:bo’, 'ETcAbyEtM_ma:b--', 'ETcAbyFv:go’, 'ETcAbyFv_ma:g--', 'ETcA:ro', 'ETcAma:r-']]
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Plot [['I", 'lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl', 'optETcl'], 'LAI', 'optEtRate']
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Fg Trigger Score (by Et and sensor)

-10 A

-15

—— TgScoreEt

25

50 75

175

-10 A

-15

Warning: col ['TgScoreMt'] i

!'

—— TgScoreM
—— TgScoreMs

25

50 75

175

1.0

0.8 A

0.6 1

0.4 A

0.2 A

0.0

Warning: col [] missing

0.2

0.4

1.0

0.8 A

0.6 1

0.4 A

0.2 A

0.0

Warning: col [] missing

0.

0

0.2

0.4

1.0




200 ~

150 A

100 A

50 A1

—&— cumsumEt
—&— cumFv
=¥=- cumFvOv

25 50 75 100 125 150 175

Plot liquid fertilizer usage
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Plot solid fertilizer usage
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